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- 6. WGUT-3r v T : . -
a9 ey T 70 IR grr & g 6.0 In Section-4, thire o
35 YT 7 gy 2y arfirard - 7O objective type questions, ou
&1 35 geaf g ¥ - . which any 35 questions are to. be
T4 35 %1 & y ! Bﬁ?ﬁ w " answered. If more than 35 questwnﬂs
fore 1 ai Pt & & | SF * are answered, then only first 35 Uf‘”
e 3ueray ) | ¥ IR 3 @ ' be evaluated. Each question carres
p ™ omRr Bﬁ?-m 1 mark. Darken the circle with blue/
I ﬁ(!' T TEt f%ﬂ'a?q & S J & " black ball pen against the correct
T 97 7 e #W1 fret e L SR option on OMR Answer . Sheet
&F WIEAT / AT yarf . . provided to you. Do not use
T / ®T ./ whitener / liquid / blade / nail
< ®T OMR IWT uyxw d’ . ete. on OMR Answer Sheet,
T &¥AT 9T & S/=pur uider . otherwise the result will be
gRome sy g " invalid.
7. @UZ - @ F 207 AT wFw & | 7. In Section - B, there are zolshor:L_
TeE & o 2 % Fuifa & fF answer  type  questions, | eac
2 ?7. m’:ﬁ T F??T . carrying 2 marks, out of which any
7 ; 10 il . .~ 10 questions are to be answered.
a’ﬁa’# é: ! F% SHfeife §6 @ g‘ 7 Apart from this, there are 6 long
6 i'??f FHT AT e 3 & Wﬁ‘i‘ _answer type questions, each
e s 3 Frefifier g fd | feret ; carrying 5 marks, out of which any
¢ ey 3T T sfrard &1 ' .3 questions are to be answered.
. @@yl T :
ﬁﬁlﬁ’ gFR B seiggifre JIP T 8. "Use of any electronic appliances is
ey e A € strictly prohibited.

@us - 3 / SECTION - A

a&]f=1s5 9= / Objective Type Questions

T TEAT 1 T 70 dF & YAH WA & folv IR Aoy v aw § o= d @

T Hel & | 39 G@RT I a¢ HE' fashod T OMR e ) Rifgaa &
gt 35 UL & 3% ol & |

Question Nos. 1 to 70 have four options, out of which only one is

correct. You have to mark your selected options on the OMR sheet.
Only 35 questions are to be answered.



1. faf@a & Fia offasd ara @ 3 R § 2
(A) ATEY afFeT
(B) FRAT affeT
(C) 3 SR=T
(D) GieT af 8T

Which of the following is the river basin of western India?
(A) Mahi basin

(B) Kosi basin

(C) Ganga basin

(D) Son basin

2. §IY HAgcaqul S[¢ 3cdesd & §
(A) 379 SoeT

(B) FUT Seer

(C) Mera’r Seer

(D) 318 & HS gl

The most important jute producing region is
(A) Ganga delta

(B) Krishna delta

(C) Godavari delta

(D) None of these



3. STeTSET JETE §
(A) FeileF F

(B) 3w &

(C) 3IR@Us #
(D) 3Nf3em &

Bababudan hill is in
(A) Karnataka

(B) Goa

(C) Jharkhand

(D) Odisha

4, fArAfaf@a T A Sl MsaAT FIFelr & fov yfdgy g ?
(A) AFMUS
(B) FAgRr

Which of the following states is famous for Gondwana coal?
(A) Nagaland

(B) Tripura

(C) Tamil Nadu

(D) Jharkhand



5. SHEAT fac’or &l JHIfad FXa arell Had Hgedqol HR &
(A) FgeTHid

(B) e

(C) wrhfaeh dereafa

(D) Stefarg
The most important factor influencing population distribution is
(A) Landform

(B) Soail

(C) Natural vegetation

(D) Climate

6. 3ieafeRior & AT FeuoT gar § ?
(A) ST TEuoT
(B) ar SIqyoT
(C) eafer gewor
(D) 318 & @

Which pollution is caused by industrialisation?
(A) Water pollution.

(B) Air pollution

(C) Noise pollution

(D) All of these



7. FUHTET 36T &
(A) TR 3T
(B) FER 3gNeT

(C) Taese 3eT
(D) go1d & IS TgI

Handloom industry is
(A) basic industry
(B) cottage industry
(c) footloose industry

(D) none of these

8. 3T YRATT IR FX dlel IHed¥ul § Frdieeid TohaThardl &l &gl SITdl &
(A) ciddreh foharehey

(B) 9o foramehema

(C) =Y TohaTeherTd

(D) 318 & HS gl

Activities related to high degree and level of innovation are called
(A) Secondary activities

(B) Quinary activities

(C) Quaternary activities

(D) none of these



9. W #RA # TH=rS &1 A=Y AT HiA § ?
(A) #T&X

(B) el

(C) aremE

(D) g3 & HIS &gl

Which is the main source of irrigation in north India ?
(A) Canal

(B) Tubewell

(C) Pond

(D) None of these

10. feIfaf@a afst & e s eRr &g e § 2
(A) g 3raEh

(B) 3131

(C) Harelrst

(D) fergamge

Which of the following minerals is called 'brown diamond' ?
(A) Iron ore

(B) Mica

(C) Manganese

(D) Lignite



1. PvaAfaf@a U=t # fraesr Fem SIS Fom Fheg 3aRTd § 2

(A) 3T seRr

(B) FERTSE

(C) Feilcsh

(D) IR

In which of the following states Kaiga atomic power centre is located?
(A) Uttar Pradesh

(B) Maharashtra

(C) Karnataka

(D) Gujarat

12. denfser dlig 3aFs &9 8 T # &yd § ?
(A) FERTSE

(B) FRTS

(C) AT weRr

(D) exiraeTg

In which state is Bailadila iron ore region located?
(A) Maharashtra

(B) Jharkhand

(C) Madhya Pradesh

(D) Chhattisgarh



13. FegeR Haeler a7 foua §
(A) AL yeor

(B) FIRTWs A

(C) 3nfeam &

(D) eieeTe &

Kendujhar manganese region is located in
(A) Madhya Pradesh

(B) Jharkhand

(C) Odisha

(D) Chhattisgarh

14, Pafaf@a & ®ld S & R-RERPET AT § ?
(A) PrIeT

(B) Ster faega

(C) &R ot

(D) @fasr der

Which of the following is non-conventional source of energy?
(A) Coal

(B) Hydel power

(C) Solar energy

(D) Crude oll



15. 2011 &1 ST & AR f9gR HT STAEEAT Heled AT
(A) 1126 cafda / 3o fFah
(B) 1006 =afda / 3o fpah
(C) 906 =ufda / oot fpahr
(D) 1106 <afeFd / aeT fehadT

As per 2011 Census the density of population of Bihar was
(A) 1126 persons / sgq.km

(B) 1006 persons / mq.km

(C) 906 persons / sg.km

(D) 1106 persons / sq.km.

16. mﬁq\ﬂ‘rammmqa?ﬂmwgéaﬁ?
(A) 1881

(B) 1901

(C) 1781

(D) 318 & HS gl

When was the first complete Census held in India?
(A) 1881
(B) 1901
(C) 1781

(D) None of these



17. 2011 &I SRIOET & 3]dR AR # TR 3EET §
(A) 31.16%
(B) 35.16%
(C) 36.16%
(D) 37.16%

As per 2011 Census the urban population in India is
(A) 31.16%
(B) 35.16%
(C) 36.16%
(D) 37.16%

18. Tefaf@d & & Fla #RA & @Y JaH HT &I HROT § ?
(A) faarg

(B) =aa@m™

(C) & 3R VIR

(D) foram

Which of the following is the main reason of male migration in India?
(A) Marriage

(B) Business

(C) Work and employment

(D) Education



19. e=fafad Tl # fhaer 0-6 3y T3 F faequrd Aetas & 2

Which of the following states has the lowest sex ratio in the age-group
of 0-6 years ?

(A) Haryana
(B) Gujarat
(C) Punjab
(D) Himachal Pradesh

20. 2011 T ST & 3JAR fAefafed sl & § fhad TR
SITHEET T 3791 Hales § ?

A) dffAeeTg

B) HERISE

)

(
(
(C
(D) e

Which of the following states has the highest proportion of urban
population according to 2011 Census ?

(A) Tamil Nadu
(B) Maharashtra
(C) Goa

(D) Kerala



21. TAfaa &t 7 Her f@e=ieor &1 9@ $ROT §
(A) 3TT=ATTIRT UGl

(B) HaT oIqurd

(C) arg e
(D) Rec &1 AT

Main cause of soil degradation in irrigated areas is
(A) Gully erosion

(B) Salinisation of soils

(C) Wind erosion

(D) Siltation

22. 2011 &1 SO & AR fohd T HI STAGEAT FI Ueled FaH HH

g2
INERUIEC R
(B) AETerT

As per 2011 Census which state has the lowest density of population?
(A) Arunachal Pradesh

(B) Meghalaya

(C) Kerala

(D) Assam



23. 2011 &I S0 & 3HJAR QR Hr Seaear O
(A) 10.41 Tz
(B) 11.41 &=
(C) 9.61 FZ
(D) 8.51 s

As per 2011 Census the population of Bihar was
(A). 10.41 crores

(B) 11.41 crores

(C) 9.61 crores

(D) 8.51 crores

24, fAFAfaf@d U=ar # ¥ fhadl STFaEar Haid® § ?
(A) 3T Yeer

(B) T

(C) ufRas darer

(D) FERTSE

Which of the following states has the highest population?
(A) Uttar Pradesh

(B) Bihar

(C) West Bengal

(D) Maharashtra



25, giféhet TFafeed &
(A) ToeT &
(B) 3ol &
(C) arer &

(D) %ol T4 Heall A

Horticulture is related to
(A) flower
(B) cereal
(C) pulse

(D) fruit and vegetable

26. e &A1 A HeT W H HET HROT §
(A) TSR REeT

(B) Rice-srAma

(C) arg 3Reet

(D) 377 ¥ HIg el

The main cause of soil erosion in arid areas is
(A) gully erosion

(B) siltation

(C) wind erosion

(D) none of these



27. 80T TR 7 RS 1 qET Wa FiA § 2
(A) =&Y
(B) sTerpd
(C) arensr

(D) g3 & HIS &gl

The main source of irrigation in South India is
(A) canal

(B) tubewell

(C) tank

(D) none of these

28. ARIY AMHRT Foil g IaTEAd 8
(A) 3 9T H
(B) HerTY H
(C) Feliear

(D) ISR H

Tarapur atomic power centre is located in
(A) Uttar Pradesh

(B) Maharashtra

(C) Karnataka

(D) Guijarat



29. 300 (ISR 3 YSIfoad THHaIfea HEeT) HT HEATT Tl § ?
(A) TaraT
(B) STehrdT

Where is the headquarters of OPEC (Organisation of Petroleum
Exporting Countries)?

(A) Vienna
(B) Jakarta
(C) Hanoi

(D) Geneva

30. =er & IRT 30T 9471 a9 g gfasa & 3mem 2
(A) ISR
(B) 3R

Village settled around a lake will come under which pattern?
(A) Rectangular

(B) Radial

(C) Circular

(D) Star



31. farafaf@a & Fia F[Eas TR § ?
(A) SeHeH
(B) s

Which of the following is a commercial city?
(A) Jerusalem

(B) Pittsburgh

(C) Beijing

(D) Amsterdam

32. 3@ 3fcdifcd AN ST §
(A) 3T AR FT T 4
(B) 3 ARG FI HIhIHT I
(C) TT = whr |

(D) 318 & HS gl

North Atlantic route connects
(A) North America with Europe
(B) North America with Africa
(C) Europe with Asia

(D) None of these



33. QYA 2@RT 319 3afaaelt & fhd geR i HN F7 fGeme fHar amr

Which type of cultivation was developed by the Europeans in their
colonies?

A) Milpa

(
(B) Plantation farming
(C) Mixed farming

(

D) Viticulture

34. e Wil $r HY gralewd &

Farming of citrus fruits is related to

A) Mixed farming

(

(B) Plantation farming

(C) Mediterranean agriculture
(

D) Co-operative farming



35. faf@d & 4 &l 3ecioar & ey § ?
(A) FeTaRT
(B) & 3raTaT

Which of the following is the capital of Australia ?
(A) Canberra

(B) Addis Ababa

(C) Beijing

(D) Perth

36. ‘"Gl dI HTURUT H ThH T A Hgcaqul Al AT § ?
(A) Whfas Teh

(B) AT TeH

(C) (A) wa (B) aw

(D) 318 & HS gl

Which component is considered as important in the concept of
Possibilism?

(A) Natural component
(B) Human component
(C) Both (A) and (B)

(D) None of these



37. fa2g & gue SaEEdT &3 # AeAfaf@a # @ Fia &7 afFAfaa @ 82
(A) afRast TR

(B) Efgor-qa whRwm

(C) EiEvor-ufRes 3T

(D) 3TR-qa 3 AN

Which of the following regions is not included in the densely populated
regions of the world ?

(A) Western Europe
(B) South-East Asia
(C) South-West Africa

(D) North-East North America

38. A faf@a & T T FA-TAHTa0T HT IIHY HRF el g
(A) I&T-TgA Hr 3TOT g2

(B) 3fcishel STerdryg
(C) IE=T-TgT hr foaeet geme
(D) enfa va wl@ca

Which one of the following is not a pull factor of human migration?
(A) better living conditions

(B) Favourable climate

(C) Poor living conditions

(D) Peace and stability



39. 399 & &g ¢ Y FTTEIT AT g ?
(A) FgFT I TARET

(B) AR

Which country of the world has the highest population?
(A) United States of America

(B) India

(C) China

(D) Indonesia

40. TATATET #H FieT Uwd FIV 6T § ?
(A) AT FiY

(B) 3% ¥

(C) A9or HiY

(D) SR 3HeATsT FHiW

Which of the following is not monoculture?
(A) Mixed farming

(B) Dairy farming

(C) Plantation farming

(D) Commercial grain farming



1. rafafa & ia A9or wHer A § 2
(A) T
(B) g
(C) =T

(D) &3

Which of the following is not a plantation crop?
(A) Coffee

(B) Wheat

(C) Sugarcane

(D) Rubber

42. TIEqd SR elol-3culeeh Hi a6l @l STl &
(A) 9T & T H

(B) T &7 &

(C) v &7

(D) AT SffeT

Extensive commercial grain farming is not practised in
(A) Prairies
(B) Steppes
(C) Pampas

(D) Amazon basin



43. garel e weer #1 Few &
(A) SITRICT-gTasT

(B) hrerehlcr-Afe=qT

(C) SRTeehTaT-RRT

(D) FITHTAT-RlealI]

The nucleus of the Hugli industrial region is
(A) Kolkata-Howrah

(B) Kolkata-Medinipur

(C) Kolkata-Rishra

(D) Kolkata-Konnagar

44. ST # dgerr ST Frdshe JAIR g3 AT
(A) 1936 #
(B) 1911 &
(C) 1923 &
(D) 1927 &

The first radio programme in India was broadcast in
(A) 1936
(B) 1911
(C) 1923
(D) 1927



45. SR Yo7 Y YT &
(A) 1853 #
(B) 1753 #
(C) 1863 #
(D) 1760 #

Indian Railway was introduced in
(A) 1853
(B) 1753
(C) 1863
(D) 1760

46. T goer 3afeud §
(A) Teilceh H

(B) 3nf3em &

(C) et &

(D) affAerg &

Kochi port is located in
(A) Karnataka

(B) Odisha

(C) Kerala

(D) Tamil Nadu



47. Sel-oeg T &
(A) ea8a HHATT
(B) AFeorsH QM
(C) faar

(D) 2ardeTell MY

Waterborne disease is
(A) respiratory infection
(B) conjunctivitis

(C) diarrhoca

(D) bronchitis

48. A& FTTEEAT dral Ao &
(A) FFSS
(B) feeelr

The megalopolis having the highest population is
(A) Mumbai

(B) Delhi

(C) Kolkata

(D) Chennai



Dharavi slum is located in
(A) Kolkata
(B) Mumbai
(C) Delhi

(

D) None of these

50. feATAfEd H &ied AT 3R 9AROT & 1T 3T fhar FT aaiftes
HEcaqoT FRF g ?

(A) ATTT S AFT

(B) Slcanfareht

(©) it & 3rppra

(D) AET HASART

Which of the following is the most important factor in the interaction
between man and environment?

A) Human intelligence

(

(B) Technology
(C) People's perception
(

D) Human brotherhood



51. foafdare HeedstT H fhd O I AgcaquT AT AT § ?
(A) TTHTaH Teh

(B) AT Tew

(C) (A) wd (B) &t

(D) F1H & g g!

Which component is considered important in the concept of determinism?
(A) Natural component

(B) Human component

(C) Both (A) and (B)

(D) None of these

52. TeATIf@d & id YT BT gl & ?
(A) HIhr

(B) A

Which of the following is not a plantation crop?
(A) Coffee

(B) Wheat

(C) Sugarcane

(D) Rubber



53. Peafaf@d & #iF wufHe fraand § 2
(A) @ar

(B) <IN,

(C) g1$

(D) S[g 3ereT

Which of the following is a primary activity?
(A) Farming

(B) Trade

(C) Weaving

(D) Jute industry

54. TAST AT SISl &

(A) Reee FRERR & UAid HEERR ¥

(B) 9T HETENR I colifcdh HgMANRR &
(C) 37cdifesh HEERR &I 3hice HAGRER o

(D) &l WP &l ALY HER A

Suez Canal connects

(A) Indian ocean with Pacific ocean
(B) Pacific ocean with Atlantic ocean
(C) Atlantic ocean with Arctic ocean

(D) Red sea with Mediterranean sea



55. cToll GHITEeg S eI §ars ST §
(A) 3nfaem &

(B) GiRere samer H

(C) FgrISE &

(D) ToRTar

Netaji Subhash Chandra Bose International Airport is in
(A) Odisha

(B) West Bengal

(C) Maharashtra

(D) Gujarat

56. oIl & WK 4T g Fyg 9fasq & 3=¥em ?
(A) ATIATHR
(B) 38T

Village settled along a river will come under which pattern ?
(A) Rectangular

(B) Radial

(C) Circular

(D) Linear



57. feafaf@a & Fid gax 3¢ & v Foar ATd AR F:T § 2
(A) UL 3T

(B) FER 3T

(C) Tawog 3emT

(D) B YT HT IeaT

Which of the following produces raw material for other industries?
(A) Basic industry

(B) Cottage industry

(C) Footloose industry

(D) Small-scale industry

58. Te=iifehd & ahled Tl fohdeherd & ?
(A) T

(B) =M

Which of the following is a tertiary activity?
(A) Farming
(B) Trading
(C) Weaving

(D) Hunting



59. fa=faf@d & #ia cfadus fhammerg =6 & 2
(A) FSell JehgaT
(B) wilg aTelst
(C) a&x fasoT
(D) AR AT

Which of the following is not a secondary activity?
(A) Catching fish

(B) Iron smelting

(C) Making garments

(D) Making basket

60. TIrH-HETCAINT FEIHE FAGIAMT sl &
(A) deper @l Fe Sied 4

(B) TaTg T T A

(C) TsHlecd HT TelshRel &

(D) sIfae & AdaleT &

The Trans-Continental Stuart Highway connects
(A) Vancouver with St. John's

(B) Chengdu with Lhasa

(C) Edmonton with Anchorage

(D) Darwin with Melbourne



61. 9T 16X sl &

(A) Teed FEERR &I fgog FSEPR &
(B) Fifeuet arr = AfFasr I @Er @
(C) Welled HETHARR &l AHcelllceh HANER 4

(D) 37cdlifcer HAGMNR &I geg FAgEANR &

Panama canal connects.

(A) Pacific ocean with Indian ocean
(B) Caribbean sea with Gulf of Mexico
(C) Pacific ocean with Atlantic ocean

(D) Atlantic occan with Indian ocean

62. favg & 99@ FHAT IoT &
(A) AFAT TeT
(B) del Uxiel

(C) TaEge uaet
(D) 3t et

Main seaports of the world are
(A) Naval ports

(B) Oil ports

(C) Comprehensive ports

(D) Industrial ports



63. TAFrAfaf@da Ageddl A frad faeg AR 1 |alf¥e Yarg gidar & ?
(A) TfRrar
(B) 3 AR

Which of the following continents has the maximum flow of global trade?
(A) Asia

(B) North America

(C) Europe

(D) Africa

64. AT olig rAEH &7 AT §
(A) FgRTSE H

(B) FIRTs A

(C) ALY weer

(D) &G H

Noamundi iron ore region is located in
(A) Maharashtra

(B) Jharkhand

(C) Madhya Pradesh

(D) Chhattisgarh



65. HIRA H gR Hifd ¥ g5 A
(A) 1950 & gere #
(B) 1960 & g2rw #
(C) 1970 & carsh &
(D) 1980 & Gk H

Green revolution was started in India in
(A) 1950's
(B) 1960's
(C) 1970's
(D) 1980's

66. SIcehldTl UdeT f&ud &
(A) Teilceh H

(B) 3NfRem &

(C) ¥<er &

(D) 9fegH &ammer H

Kolkata port is located in
(A) Karnataka

(B) Odisha

(C) Kerala

(D) West Bengal



67. fAe=fai@d (e & & FleT ag ST 6T & ?
(A) ea8a HHATT

(B) AFeorsH QM

(C) faar

(D) 2ardeTell MY

Which of the following diseases is not airborne ?
(A) Respiratory infection

(B) Conjunctivitis

(C) Diarrhoea

(D) Bronchitis

68. STSiTel & Il &1 FI gl ATl
(A) SorusT
(B) wsivsT
(C) fareur

(D) SGIaT

The coffee region of Brazil is called
(A) Fazenda

(B) Agenda

(C) Milpa

(D) Ladang



69. AT AIFCAARX Tehellehl UI AU &
INRGIEE TS
(B) wheiteen &
(C) ey weer &
(D) =g #

Manipal Software Technology Park is situated in
(A) Sikkim

(B) Karnataka

(C) Andhra Pradesh

(D) Tamil Nadu

70. PETRTRE & adifts TERa A8 Fe & 2
(A) T
(B) Ingraxr

Which of the following is the most polluted river ?
(A) Ravi

(B) Godavari

(C) Brahmaputra

(D) Yamuna



@us § / SECTION - B
oy 39UT 92T / Short Answer Type Questions
wee HEAT 1 {20 o 3A0 § | fhegl 10 9at & 3R & | 9l & o 2
3 AR & |
Question Nos. 1 to 20 are Short Answer Type. Answer any 10
questions. Each question carries 2 marks.

1. HERISE & R YAG Gl I 3T shogl & a1 ford |

Name four important centres of cotton textile industry of Maharashtra.

2. §OR H T T gHSIA & ?

What do you mean by communication ?

3. STl THIUT Gaeled AT § ?

What is watershed management?

4. AR & I FAIg-3TEH 3c9geh TSl o o Qv |

Write the names of four iron ore producing states of India.

5. Al $ANel I IRATVA HIfST |

Define Human Geography.

6. SIvH &Y R Hg & H ek TISC HIWIT |

Distinguish between birth rate and death rate.



7. HFd SUOR &7 & ?

What is free trade?

8. ¥R # "ed RIY TN & & HRUM HT Iea@ HIAT |

Mention two reasons of declining child sex ratio in India.

9. folaT-31guTd ¥ AT ST & ?

How is sex-ratio measured?

10. 3R & YR W 3N &I Fofichd FST |

Classify industries on the basis of size.

1. ¥RA & IR 9H@ Jicgifan gerit & «1F Jasv |

Name four industrial regions of India.

12. IRd & IREgd & HEI Qe Dl & ?

Which are the main means of transportation in India?

13. [Sacer =T IR—T & JAT vl SRAT IRAT &F H 3feal TASE FY |

Distinguish between net sown area and gross sown area.

14. &afl 9eWoT & IR Adl FT Ieod H |

Mention four sources of noise pollution.



15. 3RUe waqyd a1 § ?

What is Orient express ?

16. 3+gF STHNET & HAgcd H 3eod Y |

Mention the importance of the Danube waterway.

17. A1 T8 & 2l Hele{d & HlA A g ?

Which are the two basic regions of human development ?

18. 3m9ary 3R 3aT H 3l TTSC HY |

Differentiate between immigration and emigration.
19. AT TaHTSTh &1 § ?

What is digital divide ?

20. URAGIGAIIRT YoTHART &7 § ?

What is trans-continental railway?

& 398 9esT / Long Answer Type Questions

g TEAT 21 ¥ 26 &1 3T & | fohegl ol Ueal & 3K & | 3% & folv
5 3 fAuTRaT § |

Question Nos. 21 to 26 are Long Answer Type. Answer any three
questions. Each question carries 5 marks.



21. TelarE URMEROT 3R AR GRUTel H 3R HITIT |

Differentiate between nomadic herding and commercial livestock rearing.

22. HedUSET IR H TS 18T AFT & Hgcd &l duled hifalv |

Describe the importance of Suez canal route in international trade.

23. Aemrahe gl & ey sfEaar & gawart fr [agsar Hifav |

Discuss the problems of urban settlements in developing countries.

24, AR H 1T & 396 U9 fAaRoT & fdavor & |

Give an account of production and distribution of paddy in India.

25. FaT & IIRURE Jar f fa=ar ffSw |

Discuss the non-conventional sources of energy.

26. 9IRA FT AT Fa30 3R Feafaf@d & yeitia fHifav :
(A) 3EaIX
(B) Ryerem
(C) 3@t



Draw a map of India and show the following:
(A) Udaipur

(B) Shimla

(C) Bhubaneshwar

(D) Hyderabad

(E) Narmada river.






